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(A)
Given:
Opening Capital = 10,000
Profit during the period = X5,000
Drawings = 34,000

Closing Capital = Opening Capital + Additional Capital + Profit - Loss - Drawings
Closing Capital = 310,000 + %5,000 - 34,000
Closing Capital = 311,000

(B)

Given:

Opening Capital = %15,000
Profit during the period = %3,000
Creditors = 32,500

Closing Capital = Opening Capital + Additional Capital + Profit - Loss - Drawings
Closing Capital = 315,000 + 23,000
Closing Capital = 318,000

Capital + Liabilities = Total Assets
or, Assets = Capital + Liabilities
Total Assets = 318,000 + 2,500
Total Assets = 320,500
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